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1 hour 45 minutes

ADDITIONAL MATERIALS

A calculator will be required for this examination.
A ruler, protractor and a pair of compasses may be required.

INSTRUCTIONS TO CANDIDATES

Use black ink or black ball-point pen. Do not use gel pen or
correction fluid.

You may use a pencil for graphs and diagrams only.

Write your name, centre number and candidate number in
the spaces at the top of this page.

Answer all the questions in the spaces provided.

If you run out of space, use the continuation page at the
back of the booklet. Question numbers must be given for all
work written on the continuation page.

Take m as 3:14 or use the « button on your calculator.

INFORMATION FOR CANDIDATES

You should give details of your method of solution when
appropriate.

Unless stated, diagrams are not drawn to scale.

Scale drawing solutions will not be acceptable where you
are asked to calculate.

The number of marks is given in brackets at the end of each
question or part-question.

In question 8, the assessment will take into account the
quality of your linguistic and mathematical organisation,
communication and accuracy in writing.
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Qusstion Maximum Mark
Mark Awarded
1. 8 5
v B 4 I
3. 5 3
4, 3 20
5. 3 1]
6. 5 2§
4 3 31
8. 7 37—
9. 6 uh
10. 3
a1 4
12. 8
13. 5
14. 5
15. 6
16. 5
Total 80
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1. (a) Calculate 8%(0f)£3.25. [3]
0-16
..................................... (ZKE.IS'/OIQ P
_______________________________________________________________________________ borg | ke X
%p
%0‘16'0 /
(b) Evaluate 065 x 280 — 5@513. [3]
...................................................................... S e
(c) Calculate 3-52- /86
Give your answer correc_’glo 2 decimal places. [2]

03
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2. (a) Whatis the difference between the following times?
'‘07:30 on 1st November 2017' and '13:20 on 3rd November 2017’

Give your answer in days, hours and minutes.

________ 0o ot —= o030 o3y Ddaw

(b) Divide 16 hours 20 minutes by 5.

Give your answer in hours and minutes.

6 20° =5

04
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3. (3
7 } /l /l /I
A number is to be written on the blank card.
The mode and the median of all seven numbers are both the same.
[
Find one possible number that can be written on the blank card. 1]
___________ 59))1‘ e e
Number on card ”(Jflx
(b)  One extra number is added to the following list of three numbers.

6 8 13

The mean of the new list of four numbers is 1 less than the mean of the original three
numbers.

What number was added to the list? (4]
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4. (a) How would the direction due west be written as a three-figure bearing?
Circle your answer. (1]

360° 180° 090° @ 000°

(b) There are 360° in a full turn.
A pointer facing due south is spun clockwise through 3% full turns.

In which direction will the pointer now face?
Circle your answer. (1]

north south ; west none of these
: directions

N

(c

[§o +hb
-0

o

What is the bearing of point P from point A?
Circle your answer.

@ 040° 140° 320° 230°

(1]

LT
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Examiner
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5. Calculate the@ of the trapezium shown below. o
You must give the units of your answer. [3]
2 17-3cm
\“f 9-4cm
||
Az 82cm
Diagram not drawn to scale
M 2 ¥ 5
____________________ e p(gaardy)as
AL =
...................................................................................... O e A e B e A é
> 1AE) cm &
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6. (a) Express 54 as a percentage of 129.
Give your answer to the nearest whole number. [3]
..................... LR N R
129
(b) Share 25-8kg in the ratio 5 : 1. [2]
___________ ol i e 3 S |

i
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7. The following cards spell out the name Ystradgynlais.

Y| |S||T|I[R|[A||D|[G||Y||N|L|A|[T]|S

In an experiment, the cards are turned face down and rearranged.
A card is selected at random and the letter on the card is recorded.

The experiment is carried out 325 times.

How many times would you expect the letter Y to be recorded? [3]

Examiner
only

3300U401

09

09

© WJEC CBAC Ltd. (3300U40-1) TU rn over.



10

In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

AB is the diameter of a circle, centre O, with radius OA = 4-:2cm.
ABCD is a square.

Diagram not drawn to scale

Calculate the area of the shaded region.
You must show all your working.

b\% Sdqueer z LeL¥ .0 2 8-1.-) CM
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9.

ABC is an isosceles triangle with AB = AC.
——

Diagram not drawn to scale

Calculate the value of y. [6]

,)(. ")(“
................................................... Y bl BEAR et G e
....................................................... R
____________________________________________________________________ T e B A L g
3 3

L
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10. Simplify each of the following and circle the correct answer in each case.

(@ 6p°x3p’ = lypsn : 13"94

9p° 9p'® 18p' 18p°
-1 6 b
(b) 34g® =+ 13:6¢° .', ? ! s I g %
| 4 “T
4 6
g ® o« w
\_/
V4é 9 4-9 ot
© m> x m® M - M T M ctM -
9 L ——
m N\_‘l M q9

2
@ m m- WZ4

0-4g°

(1]
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11. A solution of the equation )
x*+2x=091

lies between 4 and 5.
Use the method of trial and improvement to find this solution correct to 1 decimal place.
You must show all your working. [4]
XouS  Car)eiled) S0 ko by
xeby (a3) 12(e) 7 Fr10t ko swll
___________________________________________________________ i, S LN S BTt S L OSNOR S B i 7 S RIS
Tl () xa@u) = Qv ko by
o x b bebwe By b bl
bob vy e bevs
SRR W Rt IS Wl Ca e =R A L LA SO SN S o e
LY a(uaT) = Aol o by
.................. 5. SRS T | ORISR O 1 LRl R SRS o L
______________ el LR L
............................................................. B T e e e i P
______________________________________________________________ o 5 TP T B TN E A
R i T T
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12. A triangular prism of length 2 metres is shown below. it
. A LY ¢ =
Diagram not drawn to scale
N\
AC =21cm, BC = 35cm and BAC = 90°.
(a) Calculate the area of triangle ABC.
Give your answer in cm?.
You must show all your working. [5]

14
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(b) Calculate the volume of the prism.
You must give the units of your answer. [3]

Volome 2 Aren] ARDC »

15
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13. Find the answer to the following number problem. [5]

'(the LCM of 12, 18 and 24) + (the HCF of 36 and 54).

16
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14. (a) Rearrange the following formula to make x the subject.
Give your answer in its simplest form. [3]

2x+y)=Ty-3

(b)  Write down the nth term of the following sequence. [2]
A 1 3 [N Y

3, 6, Lk 18, 27,
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156. The diagram shows two right-angled triangles, joined together along a common side. only

A A VA
SPQ =90° SQR =90°, SQP = 38°, PS=8cmand QR =15cm.

8cm

Diagram not drawn to scale

Calculate the size of angle x. [6]

L
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16. All the members of a farming club visited the Royal Welsh Agricultural Show.
They all travelled to the show either by bus or by car.
None of them visited the show on more than one day.
The decision to travel by car or by bus was independent of the day of the visit.

A member of the club was selected at random.
The probability that this member travelled by bus was 0-87.

The probability that this member visited the show on the first day was %

(a) Complete the tree diagram shown below. [2]
Method of travel Day of visit
» x '1‘
4 First day o-t? 3’
3
Bus
8
x Other day
2 First day
i}
Car
}3 Other day

(b) What is the probability that a member, chosen at random, was not one of those who
travelled by bus on the first day of the show? [3]

)i bwelly by Ans pey on Pikdmgs 0°8F 2L 5 050

END OF PAPER
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